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Hanbit Academy, Inc

A 01 F21 z[—0.144, 0, —0.108] N

4 02 F, = [0.144, 0, 0.108] N

H =%He ._JEIS’-f HI71Ee| M7|
A 01 F= [—1.004, —1.284, 1.399] nN
92 02 E = [—1.004, —1.284, 1.399] V
H YhZ2o| LE& HX|

1

G2 01 J= —[—y, —2, —a]
o

A 02 ,uo.—}Z [0, —z2+xzy, —222]

I A5EA
7.1 a+b=AC
7.2 a—b= DB
7.3 b+a=AC
74 b—a= BD
75 CA=—1b

76 BC=—a+0
7.7 CD=—b+c
7.8 DB=—c+a
7.9 CE+ DC= DE
7.10 BE+ CB= CE
711 CE+ AC= AE
7.12 EA+ BE= BA
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b= P& Hanbit Academy, Inc

713 DC+ CB= DB
7.14 BA+ DB= DA
7.15 AB=(3,3)| AB|=3v2

716 AB=(—2-2)|ABl=2v2
717 AB=(-2-2)|4B|=232
7.18 AB=(2,—10)|4AB|= V104
719 AB=(2,2,2)| ABl=2V3

7.20 AB=(-1,—2,—3)|AB|= V14
721 AB=(2—2,5) | AB|= /33

7.22 AB=(4,5—4)| AB|= V57
7.23 |2i—3j+k|= V12

7.24 |—i+2j—5k|= V30

7.25 3i—5j+6k

7.26 i—j— 4k

7.27 |i—j—4k|=3v2

7.28 |—3i+5j—6k|= 70
7.29 Ti— 12+ 17k

7.30 |—7i+12j—17k|= /482
7.31 HuAd& 7HHT

7.32 AuAE THAA ek
7.33 AuAdE 7zt

7.34 AWAS A A et
735 p - q =14

736 ¢ - r =—24

7.37 1 - p =—20

738 p- (g—r)=34

739 (p—q)- =4

740 pxq=(-6,-9,5)

7.41
7.42
7.43
7.44

745 Fp=—9.546i— 9.546k= (—9.546,0,— 9.546)(V)

VI 3B
. X

746 Fp=—0.133i— 0.309k= (—0.133,0,— 0.309)()
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b A Hanbit Academy, Inc

747 F=(0,0,1.728)(V)

7.48 F=(—6.512,— 3.713,7.509)(n.V)
7.49 E=(—0.651,—0.317,0.751)(V)
750 E =(3.216,1.413,0)(n V)



